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Number

: . 2024
GENERAL STUDIES (Degree Standard) WITH GENERAL ENGLISH
(SSLC Standard)-
This booklet contains .
Part-A (GENERAL STUDIES) and Part-B (GENERAL ENGLISH)
Duration : Three Hours] - " [Total Marks : 300

Read the following instructions carefully before you begin to answer the questions.
IMPORTANT INSTRUCTIONS

il You will be supplied with this question booklet 15 minutes prior to the commencement of the examination,

2. This question booklet contains 200 questions. You should not remove or tear off any sheet from this
question booklet.

3. An OMR answer sheet will be supplied to you separately by the room invigilator to shade the answers.

Instructions regarding filling of answers etc., which are to be followed mandatorily, are provided in the
answer sheet and in the memorandur of admission (Hall Ticket).
4. Answer all the questions. All questions carry equal marks.
5. Before shading the Question Booklet Series Number in the OMR answer sheet and answering the questions, you
shall check whether all the questions are printed serially and ensure that there are no blank pages in the
i i i booklet. it shall be reported to the invieilator within ten

minutes before t-he commencement of the exammation and candidate must get it replaced with another complete
uestion booklet. If the defect is reported after the commencement of the examination. it will not, be replaced,

6. You must write your register number in the space provided on the top right side of this page. Do not write
anything else on the question booklet, :
7. Each question comprises five responses (answers) : Le. (4), (B), (C), (D) and (E). You have to select

ONLY ONE correct answer from (&) or (B) o (C) or (D) and shade the same in your answer sheet. If you feel
that there are more than one correct answer, shade the one which you consider the best. If you do not
know the answer, you have to mandatorily shade (E). In any-case, you should choose ONLY ONE
answer for each question. If you shade more than one answer for a question, it will be treated as a wrong
answer even if one of the answers shaded by you happens to be correct.

8. You should not make any marking in the question booklet except in the space provided at the last pages of
the question booklet, which can be wsed for rough work. This instruction should be strictly adhered to.

9l For questions in S1, Nos. 1 to 100 (Part-A), English version is final.

10.  You are not allowed to take this question booklet and the answer sheet out of the examination room during
the time of the examination. i .

11.  After the examination is over, you must handover your answer sheet to the invigilator and You are allowed

to take the question hooklet with you.

12, Invalidation of Answer Sheet :- :
1) The Question Booklet Number should be written and the corresponding bubbles should be shaded.
The Question Booklet Number shaded by the candidate in the bubble will be treated as final.
The OMR Answer Sheet will be invalidated even if correct Question Booklet Number is written but
the bubbles for Question Booklet Number are either not shaded or shaded.
s incorrectly
improperly
in multiple
out of question booklet number series printed (i.e. not in range of question booklet number series)
one or more bubble left blank ‘
other number than the one printed in Question Booklet supplied to you.
2) Answer Sheet will be invalidated if other than black ink ball peint pen is used for shading,
13.  Deduction of Marks :- .
* e If the Question Booklet Number is not written or partially written in the space provided, five marks
will be deducted from the total marks obtained by the candidate.
14.  Fajlure to comply with any of the above instructions will render you liable for such action as the
Commission may decide at their discretion.

L TAMIL VERSION OF THE ABOVE INSTRUCTIONS ARE PROVIDED ON THE BACKSIDE OF THIS BOOKLETj
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Aamésar : 1~100

LGS-2 — Qung <iley

Part-A — General Studies

Questions : 1-100.

Gwrgs wHuQuearser : 150

Total Marks :150

Which one of the following pairs is wrongly matched?

1.

Revolt Area
(D Ramosis —  Poona
dD) Kuka —  Punjab
(III) Santhals —  Orissa
(IV) Kittur —  Malabar
(A) (I) and (III) only
@) (II) and (IV) only
V&) (IV)only -
(D) (III) only

(E) Answer not known

Qe

@
D
(I1D)
Iv)
(A)
B)
©
D)
(E)

b Gevewrsailer geuprateupeny sar@Gly. :
Slarigs L@

rrGurélen — e

&& — LI@h&TL

FhSE6D - —  qflar

L@ —  eurf

(I) wpmd (III) weEw
(III) wpmd V) b G
(IV) @

(III) we @w ‘
elenL Csflwefdana
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92 “Problem of the Rupee” is the thesis submitted by

\_JA{ Dr. B.R. Ambedkar

B)
(©
D)
(E)

“epumen Gyseemen eramm pllouBlémsam

(A)
(B)
©
@)
(E)

M.G. Ranade
J.C. Kumarappa
Mahalanobis

Answer not known

L&t 19T SbCLSST
war. Gsr. grearGL

Gg.fﬂ; Gyl
waraGarmden

efenL GsMuwielerency

S ISSTT.

3.  Who wrote a series of articles entitled ‘New Lamps for O1d™?

(A)
B

Dinshaw Wacha

‘Dadabhai Naoroji

(C) Surendranath Banerjee

\ﬂ’ﬁ Aurobindo Ghosh -

(E)

Answer not known

‘B, embligy oL Gaurar’ eangyd gealded &l Hears Cgmflaen
erpSluieui Wim? ' '

(A)
(B)
(©)
D)
(E)

EeTEpm QUIEFT
grgrumi QperGrrel
&Crpdymns Linere
<oiyeliEGaim Carrel,
alen Gsfwisilcrena
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4.  Match the following correct Institutions with its location :

(a)
(b)
©
(d)

@ ()

NIFPHATT

CICEF

NFDB

CAA

Q) 1

Joty

(@) 2
(D) 3

(E) Answer not known

2

1
4
1

(©)

3
4
il
4

1. Bangalore
Kochi

2
3. Chennai
4. Hyderabad

(@

By o o

Setreu(mid Himieuemhisamer Siger &ilwirar @@Dﬁi_‘&';gjl_dﬂ' QumBESSaYD

(a)
(b)
{0
(d)

(A)
(B)

©)
D)

NIFPEATT

CICEF
NFDB
CAA

@ O

1
2
2
3

2

1
4
Il

1. Quiisesm
2. " Qarsf

3. Qzamanar

(©)

3
4

1.

4

4, DRDSTTLITS

(d)

4
3
3
2

(E) e Qsfueldaa
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5. Assertion [A] : In India, the traditional small scale industries
have greater employment potential than the
modern small scale industries.

Reason [R] : The value of capital per worker in traditional
small scale industries is smaller than the value of
capital per worker in the modern small scale

. industries.
\V({ Both [A] and [R] are true and [R] is the correct explanation
of [A] ‘

(B) Both [A] and [R] are true but [R] is not a correct explanation

of [A] -

(C) [A] is true but [R] is false

(D) [A] is false but [R] is true

(E) Answer not known

spm [A] 1 @pHureie Limib M AnQsmfdaar 2fla

GeuenareumiILicnL peliar & QsmfleosemaresL
QUGS ETDET.
smyaord [R] umrbudu AnGsmfaseia Asmiaremse ComeiiLiGLD

apeger WL  Gopeurseb peier Sn Qsmeasete
QgmfleorermEE Gaeneuiiuip) b APEOSET T3 N[E
S HOTHED 2 ETergi.
(A) TA] wpgid [R] @rereod il whpib [R] cramug [Alssrmer afluirer
eflené s ~
B) [A] wopn [R] @ran@o efl e [R] eerug) [A]ufer sfwmen
dersaid Gome - ;
(C) [A] sf myame [R] geug
©) [Al g e [B] o
(E) &fiev Qpflweierane
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6.  Which of the following statement is correct?

(@) Equitable development is the main target of Eleventh Five

Year Plan (XI FYP)

(b) Rapid, sustainable and more inclusive growth are main targets

of Eleventh Five Year Plan.
(A) Both (a) and (b) are correct

'\,(Ef (b) alone is correct

(C) (a) alone is correct

(D) Both (a) and (b) are incoffect

(E) Anévver not known

Yere(peuareupmiar erg Fflwimearana ?

(8) swpgaurer warGamdpt 1lag @sren®s S s Cprsnne.

(b) @fCamvrar, Blaawrear wHRD SHsiLgLITaT © draTLédw QuaTiTES]
lleugl mbsram@s g‘,]ﬁf_ggc,laif'r &S CprssnisermgLd

&) (2) wpgd (b) @remEid efwreraey

B) (b) bLEWL sAwurargy |

(C) (8) wC@ib gmm@

D) (2) wpg> (b) raw@id seupreneve:
(E) e QzMueloae
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7. Which among the following is correct regarding the target of literacy
in Tenth Plan?

to increase of literacy to 75% within the plan period
“(B) to increase of literacy to 80% within the plan period
(C) to increase of literacy to 70% within the plan period
(D) to increase of literacy to 85% within the plan period
(E) Answer not known _
QereuHeueTaIpmET LSSTETH STasH®  sflwimer soewdlay G mirimer
Qs -
(A) dLssmasded 75 elssmns soelwheld 2 wirey
(B) & ssresda 80 dypssr s soslwdailes 2 wiie,
- (C) Surssmasda T0 fpsar s soalubeiled 2 wiey
D) drssresde 85 efssn s soellwudele 2 wiey
(E) ofeni Gzfwslldrena

8.  Consider the following statements and identify the correct answer :

(A) The Central CIC is eligible for reappointment but the State
CIC is not eligible for reappointment

(B) The State CIC is eligible for reappointment but the Central
CIC is not eligible for reappointment :

(C) Both are eligible for reappointment
\,@Eﬁ Both are not eli'gible for reappointment -
(E) Answer not known
Ssranid spmsamar ahsHO Csran®), sfurer aleLmus Caibesh&s :

(A) LsHU SPW@ID BHEID YPEETUIMHES LOOIHILIOEID Engﬁum, <Y, GTITED
THlE SMOELD BHEUD @ERTII(HEE DHIEILIDETD FMSFH WD

(B) wmfle soeamn SO QB@MGHSES HFLbED SrESL, e
DSFI SO SHED QY ERTIL (HES wyiFwwerd sTsEuDO

C) @QuaumsEto nyfluneand srgsuib
D) @meumsECw wyBlumarnd srgslundea
() &fer Gsflusidame
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9. Find out the incorrect statement about the Sarkaria Cominission :
(1) The Commission was appointed on 1983

(i) The Commission made 247 recommendations

(iii) The Commission recoﬁmended to scrap the Article 356

{(iv) The Commission recommended that the residuary powers of

taxation should be given to the states
\%( (iii) and (iv) only
(B) (1) and (iii) only
(C) only (iv)
(D) (i); (Gii) and (iv)
(E) Answer not known
Fr&ESTHLT Syenemud UHHu SeipTer 'ahm;ﬂmcﬂ SeRTL_MS :
(D) srssrAlur oyememub 1983-is 2616 FHIOSSULLL G
(1) @b e 247 ufipgmrama salsss
(i) sy 356-g BsEausnEG Bbs ayeramibd URbE 7558

(v) afelfinded serer ergrflu sfesmmsdr wrflomseiLnd  Grss
CauarPd erary @bs pemerub URGSMTSSS.

@) (i) wpgud (iv) G
B) (1) wpgw (i) wr b
(C) (iv) v

@) (D), (i) whgd (v)

(BE) e Gsfueidvame

B 9 | CCSE2T/2024
‘ [Turn over


https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON
Google Play

10. Choose the correct pair :
Name of the President
(1) Dr. 8. Radha Krishnan
(2) Dr. Zakir Hussain |
(3) Fakhruddin Ali Ahmed
'(4) N. Sanjeeva Reddy
(A) (1)'.and (2) are correct
V@ (8) and (4) are correct

(E) Answer not known

gfluner @enemeni SaTL_Hla :

G TES Savaelt UL
(1) Dx. S. grgn Spesenrar
(2) Dr. gn&ir 2 Cgeir
(3) usmSer sl &S
@) N. sgsbes Qs
B) (1) oppi> () shureg
C) (8) vpgd (4) sfwreng

(E) @S]mL_.@g,rﬂu_l@S]dJméu

CCSE2T/2024

Elected Year
— 1961
— 1966
— 1974
— 1977
(B) (2) and (3) are correct

(D) (1) and (4) are correct

CaipEsHESILIL L 6T
— 1961

— 1966

— 1974

4 =98

(B) (2) wpmid (3) sflwneng

(D) (1) wpmd (4) efMwreng
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11. Find out the incorrectly matched.

\ﬂ)((iii) and (iv) are incorrectly matched .

(i) Article 18
(ii) Article 21
(i) Article 23
(iv) Arlticle 20

Abolition of Titles
Protection of life and personal liberty
Protection against arrest

Right to free movement

(B) (i) and (i11) are incorrectly matched

{(C) (i) and (iv) are incorrectly matched

(D) (i) and (iv) are ‘incorrectly matched "

(E) Answer not known

SPEERT_cupHIET SaupTaT Eaeaani SaimL_Hs :

() e omuy 18

(i) el eguy 21

(iil)) e 2 gy 23

(iv) e o gy 20

— UL L_BismeT LSS

— 2 @faunpsd wHmb sal wals FsEATEHDETET
LIMGISTLIL ‘
— &g @Eulluuu@mﬁaﬂ@ﬁgj urrgjarruq' )

— . &spAyors pLrhegharar 2 fawo

(A)  (iii) wpgb (iv) seuprer Gevear

B) G ILD‘f_f)@ij (1) seuprer Genewr

(€) (@) wpmw (iv) seuprer Qerenr

D) (D) womd (iv) seuprar @event

(E) eflenL Az flweicana

11 CCSE2T/2024
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12. Which of the Vedic Gods is described as the “Destroyer of cities™?
(A) Agni & Indra
(C) Rudra (D) Vishnu

(E) Answer not known

‘paTRIS@ET SUALLT creaml g Caugd Sl a6 i@ pmi?
= @A) e B @ider

© wbrar (D) essgn

(E) e Qsfluaiaema

13.  Which one of the following is not correct about Harappan culture?

\(Af All Harappan sites are urban character
(B) The Harappan cities depended on villages for food and

labourers
(C) Harappan remains discovered even at small village sites
(D) The most distinctive feature of Lothal is dockyard
(E) Answer not known

Spsan_cupmieT epriur prafsn updl seuprer sbhm eTE?

(A)  anyuur preflesde smads GLbiSERD par Brafsn C(sraErg

(B) apnpuunm peIhsH 2 e ssTaa)D, LlUTeTis@hssnsald Smohsamer
EMBEGHES

(€)  enyuun prefasdar assmsdr AHu Srmomseaiaib deoLsdapg

(D) Garssdear HPULIDELD GODAPSLD @b A

(E) eflenr Qsflweildens

CCSE2T/2024 12 B
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14.

The Gupta emperors before Chandragupta-II issued only
coins. '

& Gold -

(B) Silver
(C) Tin
(D) Copper

(E) Answer not known

C @uewmb  FBAT  GUSMES (PHOSL  (GLUS  DETaTiSET

15.

premrubisener L HGW GQeuafludll L e
(A) smasb

(B) Qeugref

(C) samb

(D) Qeny

(E) eflenL. Gzfwefdena

Haque-i-Sharb (or) Hasil-i-Sharb means

(A) Land Tax ' \ﬁBr Irrigation Tax
(C) Commercial Tax ‘ (D) Toll Tax

(E) Answer nof known |
anré-@)-earil 2jdag apelld-@)-amil ereruger ClLmmeT
(A) Ao el (B) grourser el
(@i renkiain | 10}

e s e ‘

13 : CCSE2T/2024
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16. Which of the following is correctly paired?

&)
(i)
(i1i)
(iv)
@)
®)

Hematite Ore —  Oxide of iron

Magnetite Ore — Black ore

Limonite '—  Dolomite
Siderite —  Iron Carbonate
(1) only

(11) and (iii) only

A @, Gi) and () only

D)

(111) and (iv) only

(E) Answer not known

\Géireumeuameupiiled eTeneu &iflims @anarTésHIiLIL [HéTaTe ?

@) @g_mmém_r_ s18 -  @mobAer 2sas®
Gi) - Cosdio i srll - ooy 4 |
Gii) st B E Fcod )€
() fAcenm - @by smiuGar
A) () vl

B ) wppis () wr G
©) (), (i1) wopmo (1v) LG
D) (i) wpgd (v) L @b
(B) eflonr Qzflueidama

CCSE2T/2024 : : 14
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A

Densification and compaction are unit operations that are used to

increase the density of recovered materials to reduce transportation

costs and simplify storage. This method is used in

(A) Composting of degradable waste in MSW

(B) Transportation and Transfer station storage of MSW

(C) Construction of Landfill site for MSW

\,@Y Processing and the Recovery of waste components from MSW

(E) Answer not known

SILTSS ppIDd smssd g CuTs@erssd Qsweasmers GoDLUILSDHED,

CriliLssams

eraflgné@eushELb,

BrQLRéstu

QumpL_seRar

SLgdleow ofsfsa LLaUEL @ GsuduThsd @b, @5 pan

Semeumid ahs (penpuda LweTu@SSILIRADE

A

(B) MSW@er Curs@earss wombd uflormpy Heewu Gafliy

©

D)

(E)

MSW@e wésb @Lousmar 2 roms@se

MSWssrer floow Syt sersder s_@wrard

MSWeallmpg sfley smpamars Qeuonsgsd bopn Sr QL Gasd

aflenL. Gzfweioena

15
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18. Recently in Dubai, cloud seeding technology is used to get artificial rain.

The most commonly used seeding agents among the following are

(1) Silver iodide

(2) Dryice

(3) Sodium chloride

(4) Lead iodide

(5) Ammonium sulphate

V& (1), (2) and (3) only
(B) (3), (4) and (5) only
(C) (1), (3) and (5) only
(D) . (1), (3) and (4) only
(E) Answer not known
<iameniouder, gumde Gus elamsiiy Gsmfionp ub Qeupeams wepaut Aup
LweTURSSIIULL ). '
\RetTeu(meuemalHmeT GTGOGL. Qurgieuns cflens Ly (PEHEUTHETTS
» LGWNAGsLILEGSLLRE eTmen ? '
(1) GQoucrafl HGumanL{H
(2) o ef Ll
(3) Gsmgund &GermenyH
(4)  muw ‘c’tIGU_IH'Gﬁ)L_(bW

(B)  oupGorafuib sl

@) (1), (2) wppid (3) vl G
B) (3), (@) wppi> (5) iG>
©) (1), (3) wppid (8) i Gid
D) (1), (3) wppd> (4) LG
(E) e Gsflwsiidana

CCSE2T/2024 - 16 - ' B
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19. ‘Tamil Nadu Day’ eelebrated every year on
(A) June 8 - (B) June 18
Q) ‘Julys ., . \J&T July 18 .
' (E) Answer not known

‘gﬁﬂgépsrr(b\ glemb’. @ai@aurm auLpd @bs Harsdle Qararm tuRHng
(A) gOar8 (B) &9 18

(C) goaa 8 D) gOww 18

(E) &Moo Gsfueidma :

20. Which of the following is correctly paired?
(1) 2014 — Target Olympic Pociium Scheme
(2) 2023 — Mera Yuva Bharat (MY Bharat)
(3) 1982 —  Sports Authority of India (SAI)

(4) 1984 — Dronacharya Award was instituted
(A) Only (3) is correct \.@E{ (1) and (2) are correct -
(C) Only (4) is correct (D) (8) and (4) are correct

(E) Answer not known

Bpssar_aupBle sfurst QUIBSSILLL Gamar 6renas?
(1) 2014 - @adbds CueL Qesss AU Lib

(2) 2028 - erang @aeverw umysn (MY umys)

(8) 1982 — @rdu eerum (@ eearrub (SAT)

(49 1984 — gCyrawmserAunt efma Hpeutiur g
A) (3) wEw &M ' | (B) (1) wpmw (2) &
©) 4) vrEw s D). (8) wpmib (4) &M

(E) oS Qsfuaidama

B - 17 | CCSE2T/2024
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21. A current of 0.5 A passes through a lamp fortwo minutes, then the
number of electrons pass through the lamp is

(A) 6.25 x 10" electrons
(B) 6.023 x 10?® electrons
(C) 1.6 x 107" electrons

V(?ﬁ 3.8 x 10% electrons

(E) Answer not known

0.5 A 0enGamm L 1b gafpd eferée euflurs @ger® Bl tiser LTL&Dng
erefed, aflardE G Qeerp erdinllerananisaatien erameanilsams

(A) 6.25 x 10" aravsi_granser

(B) 6.023 x 10% craéi granser

(©) 1.6 % 107 cravé yremeer

(D) 3.8 x 10* arasér_yrenaer

(E) efer Gsfweideane

22. ISRO prefer to launch Human space flight mission during
75th independence, the (crew member) explorer is named as

(A) Astronaut (B) Cosmonaut
\}Qf Gagannaut (D) Ganganaut

(E) Answer not known

@iy anGeusl <yiia) ebugsTd Tdeug sapgrsdar GCurg ealiupb
weflgamers Qsrar@  CQedgid  dlamsosflar  elamGealll  Lwemd
CupHQsmenEsd @1 epnlert eeieimm SiePasILIHeuTi?

(A)  <yev Cympm (B) asravGumrpm

(C) smammrL (D) asrsjasrr;r)’m'_

(E) oMo Gsfweidana

CCSE2T/2024 18 B
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23. Select the chronological order of mentor 55 student chain in the

establishment of scieﬁtific methods
. (A) Aristotle — Alexander — Socrates — Plato
(B) Plato — Socrates — Aristotle — Alexander
\}?), Socrates — Plato — Aristotle — Alexander
D) ‘Alexander — Aristotle — Socrates — Plato
(E) Answer not known
digsesrar  epswer BHmejeudd eflsrig - - ramaut  srddew
sroaflesiily Caibhshsseab. |
(A) - oiflevrud - Qassrar i — sr&Tee ~ 19Cam G
(B) @Gmﬁ@ﬂ — smamedd — SiflevLmige — oGwseTaT_it
(C) srémesy — QGamGLT — eifidvLm ind ~ SQessTaRTLT
(D) aQwésarrG&m_r'r — siflevmligd — srspedy — 9CarGLn

(E) e QsNueleosme

B 19 | CCSE2T1/2024
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24. A force of 1N acts on a body of mass 10 kg. As a reéult, the body
covers 100 cm in 4 seconds moving along a straight line. Find the
initial velocity of the body.

(A) 6cm/s

V(BY 5 cm/s

(C) 8cm/s
(D) 12cm/s
(E} Answer not known

10 8Cor ereLwerar g Qummefled 1IN oflavs Qeudu@dng. Qg6
Aepereuns <pgs Qummer 4 aflemesafids 100 Ge.l CrprGsmiged BB
arenled oigen UL Coisgmss semLHluieb.

(A) 6 Qe.LS/earmmy
- (B) 5 Qs.8/a0armg
(C) 8 Qe.8/elarmiy.
(D) 12 Qs.8/earmis.
(E) oferr Gsfweiidena

25." Green light shines on a rose flower. Then, the colour of its petals seems

to be
(A) Green (B) Pink
& Black (D) Red

(E) Answer not known

em Crrgr Bptiyea usms gefl gafliailsdng. <IGung), iser @swhseiler
Bpworss Cameameig

(A) usens (B) Qeauafirdleulit

O smoy D) Aeuny

(E) &lew Gaflwusidame
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26. The Neyveli Iangnite Corporation was established by the
Government of India in the year

& 1956 - (B) 1972

(C) 1980 _ (D) 1959
(E) Answer not known

QApuiGaicdl dlsmar.. sriuGreger Hpeuend @hdwu  oiyerd . euGung

e L g ?
(A) 1956 (B) 1972
(C) 1980 D) 1959

(E) e Ogflwueldame

27. Arrange the following universities in chronological order based on
the year of establishment :

(1) Manonmaniam Sundaranar University
(2) Bharathidasan University

(8) Thiruvalluvar University

(4) Periyar Universitjr

@ @, ®, 0,3 A (2, 1), @, @)

€ 1,3, 1. D) @), (3), (4); (2

(E) Answer not known

Keaumld LOSMOESPEBRIGMET el Blpeuiur L yeTger sreeuflasliuig
R(PRISEDESE]LD :

(1) wGarmansealub &bsTaTTT LOSMOESHED

(2) unrdsnedr LOSMOESHELD

(8) Hmeudteneuir LOEMOESHSD

(4) Qufturt LdsESYELD

@) @),®, 0, ® (B) @), (1), (4), 3)
© @M@, @ ® D) (1), (3), 4, (2
(B) oflen. Qsflwaloeme Qi

B ' | 21 CCSE2T/2024
[Turn over


https://applink.adda247.com/d/XhqWf9lSap

“Addal2417 o

28. Assertion [A] : Backward class commission under chairmanship
of B.P. Mandal was appointed by the President in
exercise of the powers confessed by Article 240.

Reason [R] - The commission has developed eleven indicators
to determine backwardness.

(A) [A] is true but [R] is false
(B) Both [A] and [R] are true; and [R] is the correct explanation
of [A] ‘
\f() [A] is false, [R] is true

(D) Both [A] and [R] are true; but [R] is not the correct explénation
of [A]

(E) Answer not known

amom [A]  :  elcndfley  240a6n @ped gensE  epmsliULL
sdamgdarg  mamdud B.P. werd  edauaimny
QHLRSSLILL L auGUIAETHESTET AMETLS SEDEITTS
Blundigsr.

srgenrd [R] :  @éuaumananmuib Gengidu flavomw Sioralss Lgdeanmp
GSOET_1qSEneT 2 (HeUT&SH WL eTens).

(A) [A] sflwreng <yermed [R] seupreng

B) [A] wpow [R] @reven sflurarg; Coab [R] s [Aledpsrer
sflwrer ellerdsid

(C) [A] saupreng: [R] eflumans
D) [A] wpgo [R] @ran@od sfureng; e [R] sy [Aldpsrar

sRlwrer cfleTdsD e

(E) efen Qsflueldens
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29. Match the following :

()
(b)
©
(d)

(A)
(B)
©

A

(E)

Non-Brahmin Movement

Self-Respect Movement
Shuddhi Movement

Sathya Shodhak Samaj Movement

(@) o) 5'ie) - (d)

2 1 4 3
1 4 2 IS
2 3 4 1
1 2 3 4
Answer not known

. Spssam_aupept QUTBESS

(a)
(b)
(©
(d)

(A)
(B)
(©)
D)
¢

SymoenraarGsmi @) wssid
sunflures @ussnd
oS @WSsLD

&g,@ Cengnd Fomed @uidsid

@ i) e (d)

2 1 40, 13
1 Ao 3
2 B 4 1
1 IIRRR: 4
e Qsfueldme

e s

=

Jyothi Rao Phule
E.V. Ramasamy

Dayananda Saraswathi

Sri Sahu Maharaj

Cegrdlyren LG
m.Glel. Fremd
Buehs Frevels)
uf Fm@ WwarTy
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30. Arrange the following events in chronological order about E.V.R.
(1) He became the President of Justice Party
(2) He joined Congress
(3) He became President of Tamil Nadu Congress Committee
(4) He organised Vaikom Satyagraha

@ @,®, 6,0 B) 4, ),3), @
Vel (2),03), @, ) D) (3), (1), @), ()
(F) Answer not known

F.Qeu.gm. LHH sre euflaasiinig Newemd FEDESEET (YIS LDESELD.
(1) e §8& s fuler ganeeur e

(2) seun gradyalle Caipbamt

(3) e OPHETH sradyen Gl gl geeeairr e

(1) oassd ssHurdgsd geusslen

4) (2, 9,3, D) . B) 4), (1), 3), @)

©) @,03),®, 1) - D 3,1, @, ®
(E) ofer Gsflweldrena

31. “Vaanalum Selvamum Mannarasum Yaan Venden”
[I don’t want rule the sky, wealth and monarch]
Who said these words?

(A) Ramalinga Adigalar (B) Sundarar
(C) Nammalvar \}ET Kulasekharar
(E) Answer not known

“eumamm@nLd QEdeupLd Weiman T wineTGeoeTGL 6 — eTemp LImiquiGuf.

(A) @omoedns engsarmT (B) sbgyi
(C) mpwmpeun (D) soGsayt
(E) ofle Qsflueiidena :
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32.

Match correctly the Newspapers associated with its Founders ;

(a) Richard Johnston
(b) G.P. Pillai

1. Madras Courier
2. Madras Mail

(c) -Charles Lawson and Henry Cornish 3. - Madras Staqdard

(d) G. Subramania Iyer

(2)
1

® 1

©) 2
D) 3

(E) Answer not known

(b)

3
2
3
2

()
2 |

3
4
1

(d)

,p';..n,p.q;_

4., The Hindu

GampmeiigsauisesLar Qsmiiyaw Aeugssreer sflwrs GLmmSseD

(a) Msesr® grebreer

() G.P. Qerener

(c) emioey enreear WHY L

Cameiril smifefl el

(d) G.sugoaiu g

(a)
A 1
(B) 1
© 2
@) 3

(E) oL Qsfiuefdana

(b)

3
2
3
2

()

[~ S v B

(d)

warret gnflwir

g yred. Goudld

. Logrmev e meTLtT(H

. & aflpgl
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33. “Number four and two are strengthening your words”
Number ‘two’ refers to what?
(A) Proverb qE{ Thirukkural
(C) Naaladiyar (D) Aathisoodi
(E) Answer not known '

“Braud  @rerhin GeromEend” e upGQomPs ‘Grar@ aseens

GD&E DG ?
(A4)  upQomd (B) &mé@mar
(C)  praogum (D) sdéey.
(E) &ferr Gsfwefdrena -
- 34. -According to Valluvar, which will be considered with ulmost
gratitude?
(A) As Bamboo as Benefit \/(BTAS Millet as Benefit
(C) As Sea as Benefit (D) As Mount as Benefit

(E) Answer not known

eTgena ‘Uamanuena] bandluinss Qsrerer erar euan@seul GHILIGEDTT?
(A)  qprdledr eral per (B) favar sierey pen)

(C) s serey el (D) vae iere perbl

(E) e Qsflwecidame : '

35. <“Kallaarai Kaanungal Kalvi Nalga
Kasadarukku thookkumaram angae undaam”
Who wrote these lines?

\,{6 Bharathidasan (B) Kannathasan
(C) Vannathasan (D) Vaanithasan
(E) Answer not known :

“SOMMTS STEMBIGTD S0l BHOSTE

HELTEGS SIH@0rD oG o drmb” -

Bsscilans euflsEnsE o fweul wmi?

(A)  umpdgreer (B) seamengrae
(€C) eaamamsTgen (D) eureelignaes
(E) e QsAwefdenc '
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36. The Pakistan resolution was passed by the All India Muslim League

at its Lahore Session on
(A) March 5%, 1933
(B) August 5th, 1933

\;e)/ March 2314, 1940 -

(D) March 2204, 1941

(E) Answer not known

fleo @b evdd & Urdldvgrer SToTETSMS @TEMT  LOTBT .0

eruiumps HleonCaubBuig?

(A) DTfE 5, 1933 |

®) '%@u_ 5, 1933
(C) wmr& 23, 1940

D) wmire 22,. 1941

(E) efenr GzNweldena
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37. If ABCDE = P1Q2R3S4T5 then which one of the following is equal

to Q2BFV7A.
(A) BQ2ZVGP1 (B) BQZU6EP1
(©) BQ2V7EP1 & BQ2U6GP1

(E) Answer not known

ABCDE = P1Q2R3S4T5 arar Gmpsred Aemaimasamaupmer Q2BFVTA

CTEITLIG DG FLOLOMEHTFE 6Tl ?
(A) BQ2V7GP1 (B) BQ2UGEP1
(C) BQ2V7EP1 =k (D) BQ2UBGP1
(E) ofer Gafiwelicrana

Gopi sold a laptop at 12% gain. If it had been sold for Rs. 1,200
more, the gain would have been 20%. Find the cost price of the

(B) Rs. 16,000
(C) Rs. 14,000
(D) Rs. 15,500
(E) Answer not known

Camd @m wyssafafown 12% Qerusdde oo ‘Gmgum DS
. 1,200-6@ @apsors Apdmssre @eomun 20% <5 Q@pSmESLD.

g daafaluler oiLss clooowus sTEs.
(A) e 15,000

(B) em. 16,000

(C) em. 14,000

(D) em. 15,600 |

(B) &flen. GaRwelldene
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39. What is 20% of 30% in 5007

W 30 , 13 (BY 150
© 75 . (D) 100
(E) Answer not known
500 @er 30% wdri9e 20% eraren?
A) 30 : LB 50
C) 75 D) 100
(B) ofeL Osfueidama

40. Find the missing number in the series.

4,18, 7, 100, 180, 294, 448

Ve 48 B 50
© 58 ' (D) 60
(E) Answer not known
Qar@ssriur L Qsm MNelmhg eIQULL aTaEmameas Ses.
4, 18, 7, 100, 180, 294, 448
(A) 48 (B) 50

(C) 58 . (D) 60
(BE) oo Gzfueddeana

41. The sum of first n natural numbers is 253, then find the value of n.
W22 | (B) 18
© 24 R (D)16
(E) Answer not known
Wsd 1 Qe aanseiier mpsd 253 aafle, n-ger wALIL| Srems.
A 22 : (B) 18
(©C 24 (D) .16
(B) ofenr Qsfweiicdrena

B ‘ A CCSE2T/2024
: [Turn over


https://applink.adda247.com/d/XhqWf9lSap

Adda247

42. If fox=cat then xerox may be equal to

(A) terct
(B) tcroa
(C) tecrot

v(a_'ﬁ terat

(E) Answer not known

fox=cat eraficer xerox eremug e GNEGLL?
(A) terct |

(B) tcroa

(C) tcrot

(D) terat _

(E) oferL Asflwsiidema

43. Three dice thrown at once. Find the probablhty of getting same
numbers in all dice

1 | B g
@ 4 B) 7

1 1

36 ® 3

(E) Answer not known
e US®LSET @aprs 2 GlLiIuRDbEUTg Semagg usoLwlad eGr
orei el 58 HapssHe| eremer ?

()—

R 216

©)

(E) &fer Qsfweidemna

gﬂ»—i Oy |

D) E
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44. The curved surface area of a right circular cylinder of height. 7 cm is
66 cm?2. Find the diameter of the cylinder.

WA %2 cm
(B) 4cm

(E) Answer not known

| 66 5.05.18 ausmetLptILeL W G5 Coiraul L e avaruder 2wy 7 Qa8 crafle,
2 (meneruller el L b &metoras.

A) 2G0s.8
(B) 4 Qg.8
(C) 6 Qs.8
(D) 3 Qs.8
(E) fevr. Qsflweidrena

45. The value of a motor cycle 2 years ago was Rs. 80,000. It depreciates
at the rate of 4% p.a. in first year. In second year it increases by
4% p.a. Find the present value.

(A) Rs. 76,800
(B) Rs. 80,000
(C) Rs. 80,128

& Rs. 79,872

(E) Answer not known

Qm sés7 aursarb gadar dae @ran® panhseErse par 5. 80,000.

Wed HErH ETehES 4% Gopdpg. @ramLmbd oearh 4% Hsfsdpg
arafler oigen sHGLTEgW aflena eramar?

(&) . 76,800
(B) ¢m. 80,000
C) . 80,128

D) @ 79,872
(E) ofer GsAweidvena
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46. There are four cell phones in a house. At 5 a.m, all the four phones
will ring together. Thereafter, the first one rings every 20 mins, the
second one rings every 30 mins, the third one rings every 40 mins
.and the fourth one rings every 50 mins. At what time, will the four
cell phones ring together again?

(A) 1P.M.
(B) 1AM.
& 3PM.
(D) 3 AM.
(E) Answer not known

em oflngd prang oaGuilsd odarer. stme 5 wafléw, e@er
SaGuils@ph geamrs @alsEh. e Wwasd AameCuilurarg eaiGeurd
20 FLflmsefigid, @rerreug s@waGull gaGarm 30 Fiblkisafigib,
apapraig matusl gaitemm 40 HlLdiselgid, prasrag SmaGud
paQeimm 50 BN msaflgd @alafamer cafler, e WarhHb IGLNg
RENHTS PSEGHLD ? :

(A) Qpuse 1 e

B) ppusd 1 we

(C) YGpused 3 wad
D) whused 3 wexfl

(E) e Qsflwellddena

47. IEHCF of x° —8y° and x2 — E2y? is x + ky then value of k
(A) 2o0r -2 (B) +2

wel -2 D) 0

(E) Answer not known
x? —8y% wpmd x? —E%y? ar SuQue Ourgy aEsd x+ky aefle ke

Lol
A 2 s —2 B +2
C) -2 Do

(E) fer Qafweiidency
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48. In how many months the principal of Rs. 2,000 will double at 8% per
annum in simple interest?

(A) 144 months \IB{ 150 months
(C) 120 months (D) 140 months
(E) Answer not known

safl alllg gped Sgd . 2,000, 8% aulyeissdled @Uigiliung ereicuere]

LOTSLD By(SLD ? : )
(A) 144 prgruser : (B) 150 wrghissr
(C) 120 wrzmsdr (D) 140 wrshtisér

(E) e Qsfwechoena

49. TheL.C.M. of 8, 2.7 and 0.09 is
A 2.7 - . (B) 0.27

(C) 0.027 &7 27

(E) Answer not known

3, 2.7 wppib 0.09 ér 15.8.10

A 2.7 (B) 0.27°
. (C) 0.027 ' D) 27

(B) e Qsfweiicdrana |

50.  Which one of the following lies between /7 and 4/5?
@ 2 | & 3
0y, A4, L ®) 5
(E) Answer not known
SpsanarLephled gl 37 LoHmiLh 45 Qaupfine Ger e enwwb?
A 2 B) 3
© 4 ®) 5
(E) oflepr Qsfweidene
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51. Arrange the following Books of Jawaharlal Nehru in Chronological

order considering their year of publication.
(1) An Autobiography : Toward Freedom
(2) Glimpses of world History

(3) The Discovery of India

(4) Before Freedom

A)- 4, (3), @), (1)
Vi @, (), ), @

©) 2,3,@, Q)

D) @), @, (3), (1)

(E) Answer not known

maanieomred  Crmeler Hrivsmer el  Geuefufli il o666
Sigrine e st flasFiLbhsss :

(1) e sweflleas : aspdrd Crréd
(2) o @& euyerm @ LTt

()  @pdwmeller i@y Ly

(4). szpdisdde per

A4 @, (3),2), @)

B) (@), (1), (3), (4)

€) @),3), ¥, D)

D) @), @, 3, M)
(E) oflen Ggflwsildvene

CCSE2T/2024 34 = B


https://applink.adda247.com/d/XhqWf9lSap

Adda

eY

GET IT ON
Google Play

52. Who among the following had started ‘Mitra Mela’ Association?

\’GB)' Vinayak Damodar Savarkar

53. Who founded the All-India Muslim League in 1906?

A)

©
D)

Shyamji Krishna Varma

Lala Hardayal

Sohan Singh Bakna

(E) Answer not known

Gareumelareupdied ‘Wgnm Cuerr shssms Qarikidwet wmi?

A)
(B)
©y
()
(E)

&)

eigiLImbell &l(Heixemt euiLom
eflprws grGnsT FrelTésT
GOITELIT QUD TG I TET

Cemramer Sl wdsam

dllen Glgflwielidvenay

Muhammad Ali Jinnah

VW Khwaja Salimullah

(©)
(D)

(E)

owansSbBL wadh 86 s fou 1906-6 Apeiug wir

GV
(B)
©)
D)
(E)

Sir Aga Khan
AK. Faizul Hagq

Answer not known

@sWwE 26 gerarT
&eumspm &c&@sbsurr
&Fir ans ‘asrre'u;r

or.Cs. s and

e Ogflueddame
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54. Agsertion [A] : Swami Vivekananda founded Ramakrishna

Mission to popularise the teachings of his master.

Reason [R] :  Ramakrishna Mission was a monastic erder and

devoted itself to the spiritual development of Man.
(A) [A] is true, [R] is false
VQBY Both I[A] and [R] are true and [R] is the correct explanation
of [A]
(C) [4] is false, [R] is true
(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

(E) Answer not known

sapp [A] ¢ semfl  ACaustaibst seam  Gmelear GLTsamansemen
- uglu @rmodmegent Wasane Blmelarmi.

smyeord, [R] 1 @umodlpaiyent ileger @G Spep Sl HPID g
, wafigafiar emls ciaridfse seamer simiLeRilEsg.

(4) [A] s, [R] s

@ AL [ ... [B] [T St sl clarsain

© [Al sap, [R] &

(D) [A] wpgno [R] mﬁ <arma [R], [A]llanerw sflwrer eflerésnaa

(E) dflen GgMwaildvana
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55. Arrange the following studies of Poverty in India in chronological

order :

s
@
®)
@
@
B
©
©)
(B)

@rdwurelley  eupesy upPu  GereumLd

Ojha’s ‘study

Bardhan’s study

Minhas study

Dandekar and Rath study

@), @), (1), 3)
@), 4, ), (@
3), @), @), @
@), (), (3), @

Answer not known

RPRISBLESEE|LD

1)
2)
3)
(4
A)
(B)
©
D)
(E)

PR 2Ly

LITGTeT <Uiay

Samanmed <giiey

pamGLsi Loy 7rd ooy
(2), 4), (1), (3)

1), 4, (3, @)

3), @), 1), (4)

@), (1), 3), @)
eflen. QzfNlweférane

1
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56. Inorder to double the Farmer’s income through digital technologies,

acfion should be taken from

(i) Technology generation and dissemination, policies and reforms

and development initiatives
(i) Policies and Reforms
(i) Reforms and Development

(iv) Artificial Intelligence

| \AAf enly ®) () and (iv)
(€ Gi)and G @y Gs)ionly.

(E) Answer not known

lq.@0l L&) @'Q')HIE[’SIGDQJI'_LJTE.IGSdT epetd efleusmiliseien cuhLTaTSEMS @I IqILITES

T(Hiés Gauaimgw BL 6l &E6s

(1) Qsmiemru e (heurssd  wOMD  ugeue, QardTensseET  WHIID

Erdposmsen HPID eueniss garddlser
(i) Qsrearenss@nib, SidHSsnisE,0D
() Sr8pssRsED, aGamppen
(iv) Qewpens mememibleyld
®) @) @i B) ) wpps (V)
© (i) wpgs i) (D) (iv) o Gid

(B) efeL Osflueioama
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57.

Match the following :

(a) Tax Revenue 1.
(o) Non-tax revenue 2.

(c) Capital receipts 3.

@ G (©
ol 3 el 9
e e R e

Ee .3
@y ol

‘(E) Answer not known

Sereupeuaraupedn QLTSS
(@) euf eugmeumi 1l

(b) af eoers amar 2.

© wpogar pégiser 3.
@ ) 0

(A) 3 1 2

B 1 2 3

(@2 T 3

D) 3 2 i

(E) @9@)‘; Qg flwefldene

Interest receipts
Net market borrowings

Taxes on Income and Expenditure

el ly. 7&E
Bar shang SLeeer

eu(pLoTe WhHmib Gewey tisrear euflsar
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58. Match the following :

Enacted Year Name of the Act
(a) 1963 1. Prevention of Insults to National
B ' Honour Act
(b) 1991 2. Representation of People Act
(¢ 1971 3. Government of Union Territory Act
(d) 1951 4. Government of National Capital
‘ Territory of Delhi Act

@ ®» © O
} 3. 4 1

B) 1 2 3
) 4 3 - 2
D) 2 1 4
(E) Answer not known

VoI T A

Epdaeim_aubenmL G]urr@:{r,g,ja; E

Suppri’ L et gl L gl Guuwm ,
(a) 1963 1. prmiger Quepens SaundssuLeumss
sl Qe §lild
(b) 1991 2. ‘wasdr A ESH6UF FLL LD
_ 53

() 1971 3. @pdu geandu LuEGHE FLLLD
(d) 1951 4. Csiws smansi QLda geardlul LedHs

, SEILS b o &

CFLLID : :

@ ® © @
A 3 4 1

M 1 2 3
(C) 4 3 2
D) 2 1. 4
(E) &fenL Qsflciicana

O = = IO
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59. Assertion [A] : Governor in the Indian Federal System is
- assigned dual role, as the constitutional Head of
the State as well as the representative of the

Centre,

Reason [R] :  The Office of Governor is against the Federal

structure.

‘ \JAY [A] is true, but [R] is false
(B) Both [A] and [R] are true, and [R] is the correct explanation
of [A]
(C) [A] is false, [R] is true .
(D) Both [A] and [R] are true, but [R] is not the correct explanation

of [A]
(E) Answer not known : BT
gpm [Al 0 @pdw el mlAGd, wEnpt, SirfldT seewt bHpD
wHw sipfler GArHBlE eremad @) éﬁlg_,mrrm Ligntlsener
GEwdpmr.
smpard [R] @ yempi eremm HpielarCio auia_.rrl'_ﬁésg‘ erlymans,

(A) apg [A] &M, gyanméd smramsd [R] seup

B) epm [Al wppd smerns [R] &, Guogib apm [Alssrer  sfwurer
eflerdsions sryard [R] o dreng '

) smpy [A] paug, sams [R] of

D) epy [A] mﬁ;guro smyeerd [R] @ramd &fl, wpaméd sampm [Alssrer
sflwrar eflengswns sryard [R] @ame

(E) oferr. Qsfwreférana
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60. The framers of the Constitution incorporated the duties of the State
in the constitution in the form of the
(A) Fundamental Duties
(B) Fundamental Rights
M Directive principle of state policy -
D) Righfs of Citizen
(E) Answer not known
k= - Sdlumenblian g@mrrés‘é]u_lmr'rass'rr <rflen SLawseTns HrHuaenorisled
@bs anaupdo Coisgert.
(A)  ©iglitien SLeninser
(B)  eigriuem o flenwaser
(C) <rfler auflasm Qb QAndapenneer
(D) i wés@ERsHTET 2 MenDEET

(E) & Qsflwsiicane
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61. Which of the following bodies doesn’t/don’t find mention in the
Constitution? i

(1) National Development Council
(2) NITI Aayog |
(3) Election Commission

(4) Finance Commission

& (1) and @) only ®B) (2) only
(C) (1) and (4) only - D) (1), (2) and (3) only
(E) Answer not known :
Spsar.  si@blyselley  aamel/amasdr  ruemblns  SLLSHO
sremrliLL_allébeney ? ‘
(1) Gsflu auarieds G
@ B4 =Cuns
(3) Gsrse %mm@m
@) 58 syevawriis

@) | (1) wpgd @) wred " (B) @ wrgw

€ Q) vpgw (4) weEb D) (D); (2) wpgid (3) wr Gud
(E) e GsfNwefdena

62. Who among the following is the only woman historian to have
written a historical account of Mughal period?

\,('K{ Gulbadan Begum » (B) Zeenat-un-Nisa Begum
: (C) dJahanara Begum "~ (D) Zeb-un-Nissa Beguni

" (E) Answer not known
SereupueusEheT  psomuitsaiar  smadd o BLBg eurendm [Fabesamen
erpdlw @Cr Quair eupanbm 2 ANwir W ?
(A)  souser Gimth (B) farg-2 an-Hlar Gusid
(C) smsemymr Guab (D) Qgui-2 ér-Hlem Cusins
(E) efer QsfMueidemea
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63. Which one of the following is false with regard to the reign of
Ahmad Shah?

(A) He transferred his capital from Gulbarga to Bidar (1425)

(B). The rivalary between the Dakshin party and foreign party
became accentuated during his period

(C) He conquered Warrangal in 1424-25
V@( He annexed the kingdom of Gujarat to his Empire

(E) Answer not known
" osi0g) egneflar gl Auded EC GO LaupPld erg sepraTg?
(&) soepsar Goursstelldlnba SLTmEE wrppler (1425)

(B) Saut  stegdle  L&fdar  @upelpeh  daelpribis GWPe&EGSLD
@eLwlerar Corge LHH CusILIL{H IbSE '

(C) 1424-251b &g eunhised erenn @D ealuhpLILLLg)
D) @uims <irws sar CUTTF 1 @@meansgis GsmarL
(E) &l Qafueidme

64. Who called India as “Ethnological Museum”?

(A) R.C. Majumdar (B) R.K. Mookerji

(C) H. Risley &7 V.A. Smith

() Answer not known ‘

@rHur @ ‘waflls Goddlen é{@réjasrn'_é]u_la;l_b’ TEU <GP PGSEUIT Wit ?
(A) .8, wggebgTT (B) é;ubr'r:@as. (P& ITEd)

(C) Gems. feved (D) efl.g. cvdls

(B) feoL Gaflueidame
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65. Which of the following Harappan sites are not in India?

W Mohenjodara and Harappa - (B) Lothal and Kalibangan-
(®)) Bhaﬁwali and Ropar (D) Surkotada and Dholavira
(E) Answer not known |
%Egasasmgmmggjm abg apriur mrefss gethiser sHOUTHE @pdumaiie
@levenen ?
(A)  QursgsesrCrr wppid apyiur  (B) Canssd wpmibd srelubisean
(C)  uvaraured wHpID erUMT (D) &rGsrirLr wppib Csremelyr
(E) efeni Qg,.fﬂmaﬂcbemn

66. Around 25 districts in the east coast; 10 in Tamil Nadu
7 in Andhra Pradesh, 6 in-Odisha and 2 in West Bengal - are
vulnerable to cyclonic storms. Among these, which area accounts to
70 percent of the cyclones of severe categories?

(A) Chilika region

(B) Nellore region

(C) Machillipatinam
\ﬂf Sﬁndarbans Area

(E) Answer not known

HpéEs s_pamruie som 25 Brasl L kiser; sprpriige 10, gyndrrelad 7,
@reredes 6, wHmb  CuhHE Gumasg,g‘,]m 2 - @orasd Ludsearmed
urdésiiuLdsmgumel. Qaupdld, ehsl u@)g]u_m"m@ SHMLLITAT SuenSL]

Hueaefles 70 #g6fs urdlienL <ienujb?
(A) Ader ugd

(B) Opogrt ugd

(C) w&AdLILLIgaD

D) spsreseiuEs

(E) el Qsfweferena
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67. A tribe of India is

(1) Connected with Eklavya in the epic Mahabharatha
(2) Lives in Aravallis, Vindhyan and Satpura Ranges |
(3) Hutment on a small Hillock

(4) Maize is their staple food

Which tribal group of the following suits for the above conditions?

(A) Gonds

(B) Todas
\J&J Bhils

(D) Santhals

(E) Answer not known

SipsaTa@id smpnisEssE iy @hslwraier Liprai@lqudembd erg?
(1) wsTumys GFers SSTULTSHTD 6 &H60 606G G G]g,rn_r'ruemi_ueur'rassir
(2)  ypyeudded, dpSw whpih s5UTT LS Asmisafld sumpuefsa
(3) &dw @Gﬁrgjémﬂm Bl NEF SIS HED
(4) w&srs GerarGio WrgTan 2_awe,
(A) GsirasrpHser
(B) Gamiirser
(C) Devev
(D) smhsosar
(E) eflenL. QzMNueieaana
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68. The northern upland of the Karnataka Plateau is known as
G Malnad .
(B) Betwa
(C) Dhasan
(D) Maidan
(E) - Answer not known
SBT_& S-S uQeir UL &g Blarir T
SDPR&ESLLHEDS.
Q)  wvresrm
(B) Qurer
(C) sreer

(D) ewwLmer
(E) e Osfweldama

69. Which Ministry launched the D1g1ta1 Intelligence Platform (DIP)
and ‘Chakshu’ facﬂlty on Sanchar Saathi portal?

(A) Ministry of Power
(B) Ministry of Civil Aviation

\,(Zr Ministry of Communications and Informatlon
(D) Ministry of Earth Sciences

(E) ' Answer not known

G]'(Ibg_'; SDEFEHD FERETT &rrg@ Gumrir’ Lefléh el L & meamamday gem.o Lo Hmib
‘ensagy ausfleow QpTLkdug ?

(A)  dBer oemwéssd

(B) . Aefle afloner CunsEeursg <i@wEssLD
C) ssad Qgrn_r'rq SHOEFFSHLD

D) yel wfelwidr sipdesbd

(E) ofev QsAweldane
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70. Match the following :
Part I Part II
(a) India 1. Bald Eagle
(b) Japan 2. Dolphin
(¢) United States 3. Peony
(d) China 4. Cherry blossom
5. Royal Bengal Tiger

Codes :

@ ® @ «
A) b 2 3 4
B) 2 1| 4 5

2 4 | 3
(D) 5 B . 1 2
(E) Answer not known
Demeumelaralhenn QUTHSSS :

L@d 1 ued 11
(a) @pdwur 1. augpsans swe
(b) suumer 2. L e Qe
(€) @@doflssm 3. 19Gwmefl
(d) & 4. Qi weirEs

5. =Ire eunisliLed

GMuiQser

@ (© @© @
(A) 5 2 o 4
(B) 2 il 4 5)
(C) 2 4 . 3
D) 5 3 1 2

CCSE2T/2024
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Who had been given the “Shilp Awards” by the Ministry of Textiles
and Industry? :

(A) tolegendary drama artists
(B) to rural women entrepreneurs

(C) tolegendary farmers

\,({f{ to legendary crafts person

72.

(E) Answer not known

gajell  wHmd  Agmhagiamn SDOEFESHTD  Hedr HMBHISET  WTHEES
aUPBISLURE DS ? '

&) LspQupp BrLss sooEsEss

B)  &rmoriyy Ques dsméapemarGeunt

©) ysp@ubp Neusmbaer

D)  yewQuby esdmans FHENE(GH TS 6T

(E) efenL QsRwefdena |

Some parts of the moon never see sunlight. Because the axis of the
moon is to the direction of the Sun’s light.

\M Perpendicular | (B) Parallel

(C) Same (D) Opposite

(E) Answer not known

Bloeller e LigHsar erLGuimgib @rﬂu_l gefllleeany LrissCsulidae. e

aarpred  Flevefler  wids  GAw  geflber Henes 25
B (mLILISTED.

(&) Qeusssrs (B) @Qevemwrs

(C) swwrs (D) adyna

() efer Qzfluefoma
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73. Match the following :

(a) COq

(b) NO
@ Lead (Pb)

(d) Hydrocarbons (HC)

(@ ()
9 3
(B) 2 1
© 3 2
O 2 4

(E) Answer not known

Seraimeuamelpe@pll GUTBSSIS -

(a) COsq

(b) NOx«
(¢) anfud (Pb)

(©)

|
4
il
3

(d)

e A

(d) evan’ Grramrier (HC)

(@ (b
@A 2 3
@B 2 1
@ 3 2
O 2 4

(E) efleni- Qafluaieane

CCSE2T/2024
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1
4
gl
3

(d)

4
3
4
i

&9 i

B

50

particulate in air
Global warming

Acid rain

photochemical smog

yehl QeuliLbuIDTGeD

Slev DEmLp

pefl Geudufuie Lasua

o (HEUITGEUSDHSTE (B epa G LITHET

Ground water pollutiori and

An ingredient for the formation.of

Blessy B wraurh WwHDILD sTHbled
o Tem G&HEH(H DTG
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- 74. Assertion [A] : 2-4-Disused as herbicides.
Reason [R] : 2-4-Dinduces production of fruits without
Lk fertilization.
(A) [A] is true, [R] is the correct explanation
(B) . Both [A] and [R] are true
(C) [A] is false, [R] is true
[A] is true, [R] is not the correct explanation -
(E) Answer not known |

apn [A] p 2-4-D searssradlurs QsudbuRSng)
smpand [R] 1 2 -4 - D smeyprod sef 2 (BEUMSE STIGRTLONEDE).
(A) [A] sflureng, [R] sflurer eflersasin

B) [A] wpmud [R] sfwnang

(C) T[A] seupreng), [R] sflwrens

D) [A] sflwrarg [R] sflwurer eferssitdena

(E) " dflev Gzflwefecrana

75. . Objectivity, Predictability and Generality are the features of -

Uﬁ( Scientific method 2

(B) Scientific enquiry

(C) Scientific attitude

(D) Scientific experiment

(E) Answer not known

Hpeuwtiul L geTantd, wparsamiluyssaren  bHpld  QUTgessdTas
< dwueney Wer oibarisarms Siemdns. -
B) efdus pop

(B) <ifefwe ofteryenas

(©) el weriurarano

D) efelud LAGstsmen

(E) elerr Qsflwedecrenas
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76. Identify the correct expansion/meaning of “CEDAW”

(A) Convention of the expansion and development of Adolescent
Women '
(B) Convention of the execution of different ideas for women
vg@f Convention on the elimination of all forms of discrimination
against women
(D) Congregation of the eradication of all forms of discrimination
against women
(E) Answer not known
Qenaumaarapdie “CEDAW”  earp  edfleunéasslen)Gummanar giluinss
- CaphasHésalb. '
(A aer@embd u@eiQuaTsefiar erGarppb wHpb elfleirés LTETH
(B) Quansiepserar LoGaD  SHSSIHITSESHRIEEmE BELP@DILIHSSILD

oI BIT(H

(C) QuansErss adimar N@ass 615 UMGLITL Q@b Bé@eushamer
LomBT(h

(D) Quems@ssE adymar S@asg ol LTGUT g@an b @llLsDEER
genLl

(B) &fenL Qasflweioamae

77.  Which one of the following 1s a one- stop source for all the geospatial
data for the state of Tamil Nadu?

(A) Tamil Nadu Geographical Positioning System (TNGPS)
Tamil Nadu Geographical Information System (TNGIS)

" (C) Tamil Nadu Global Information System (TNGIS)

(D) Tamil Nadu Global Positioning System (TNGPS) .

(E) Answer not known

s ODETH mrr‘[ﬂeng,;ﬂma;mrr Sienangg Lol Sres@ha@in 1 feireu(meuaeumBled

o @Gy @L sl 2 drangl?

(A) s0pETE Heluluid Hawliubisse iy

(B)  SBOPEME Yeudwed FE6u6 el

(C) s OPBIE 2 @semneilL $a&6i6 S

(D) s ALETE easerrefiu HleaaliliBidsd by

(E) oflenL Qaflucilérene
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78. The United Nation has declared 1987 as
(A) International year of Girl Children
\}Bﬂf International year of Shelter for the homeless -
(C) International year of Women
(D) International year of Cleanliness
() Answer not known

1987 - g —— o5 &S BT FeoL PS5

(&) sraulss Qua GRHaBsET 6@ |

(B)  &ieuCss 2 peilib @odanseis@hee 2 ampeiLid GULPTBIEHLD <2y, &8r(H)
(O) sreuBss waelisarar <yam@

(D) sreuCss ssssdDaTan 2460T(H
(E) efla Asflweaena

79. In which year Flipkart signed a memorandum of understanding
with the Tamil Nadu MSME Trade and Investment Promotion
Bureau?

(C) 2001

(D) 20171

(E) Answer not known

aps perh Geflisril, slppred MSME aisssn  womibd (5056&'_@
aarg@eiluy Lflbgiarriay Lanflussgiidr @uiLbssHd osQUWsS L g2

(A) 2021

B) 2018

(C) 2001

(D) 2011

(E)  eflen @sMweflicvana
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80. Match correctly the following foundations with their corresponding

names :

(a) South Indian Liberal Federation

(o) Kudiyarasu Journal

(¢c) Emergence of Labour Oragnisations

(d) Swatantra Party

(a)
(A) 4
(B) 4

w4

D) 3

(E) Answer not known

Qeémaumld  Slgbserhsmer =i GgmiljeLw

(b)
2

1
3
4

QUTHSSIS ©
(a) Oparalpdi peo o Mennd Fhisd

(0) Grwurs @i
(c) Qsmflemant sewiiysafer CamhHob

(d) sapdr s

(a)
(A4) 4
(B) 4
€ 4
D) 3

(B) ol Qzfluiefcened

CCSE2T/2024

(b)
2

1
3
4

(©)
1
2
1
1

()

1
2
1
1

(d)

by BO QO W

@

Do b 0 O
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1
2
3.
4

o I N Ew

A. Singaravelar

C. Rajagopalachari
Thanthai Periyar
C. Natesan

QuuisGerm@m  FTHwrs

A. SrausrpCeuieit

C. prgGamuransrl
sheng Quflwmy

C. pGLgexr
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81.

18

(&)

450 per square km

\,(Bf 555 per square km -

32.

©
D)

650 per square km
750 per square km

(E) Answer not known

According to 2011 census, the density of population in Tamil Nadu .

2011 wéser Qzrens asemas@a;@ul_cﬂszrruq_ SOPBET g6 DESET QFTens oL iTss

4)
(B
(O
D)
(E)

450 qm ggiy 4.8
555 qm sy .18
650 e gy 8.8
750 e egiy 8.8
aflen ClgMuwelicrene

Tamil women who were competent in literature, music and drama
were called as

vﬁf Mudukkuravai

(B) Mudinmagalir
(C) Viraliyar

(D)

Kanigaiyar

(E) Answer not known

Geosswub, @ens, BIL&D %ﬁumm@m Cairasl @umg) g;uS]ggu Qe sET

(A)
(B)
©
D)
(E)

TG HHEDLPHSHLILIL L GITIT.
PSS

(PlgGTLDG G T

Al medlu i

Hemtl G T

eflen Ggflwelieranc
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83. Choose the right matches among the following.

(1) Thiru.V.Ka —  Desabakthan
(2) Subramania Bharathiyar — Hindu
(8) Annie Besant —  New India
(4) Kasthuri Ranga Ayyangar — India
V& (1 and (3) only (B) (1) and (4) only
(C) (1), (3) and (4) only (D) (2), (3) and (4) only

(E) Answer not known

Gereumid cuamss@ @el.Cu sflurar Qurhssrisamer Gaiay Celiwab.

(1) Hm.ed.s —  Cgoussen

(2)  snipwesflu Ly — @j@]i

(3) enmeN@LIgeT —  fly @b

(4) seogrf ghis ouwkisTE 0 — @S

A) (1) wpmd (3) @D (B) (1) wpgid (4) wEid

(©) (1), (3) wpmd (4) LG (D) (2), (3) wpmud (4) 1w Eib
() e GasMuiaiidana |

84. — — original name was Kumarasamy Nayak.
(A) Kattabomman (B) Oomaithurai
(C) Dheeran Chinnamalai (D) Marudhu Pandiyar

(E) Answer not known
&1 @whHEuw @wrgsmdl BrussT.
' (A) &1 LG LmbLDesT SETEHLOS ST

- (C)  Syer Aeeroane (D) inmg LragWIT
(B) oflen Qsfwefdeana
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85. According to Valluvar, what is the weapon to destroy the arrogance

86.

of foes?

(A) Heroism (B) Force

(©) Fort \ & Wealth

(E) Answer not known

‘Lansaflen  siausms SILEGD pusD ey QUETEHaIT  ETHmed
GIUMIRTGE VY fides ‘

(A) fipid (B) uenr.

(€  <waim e (D) Qseeuid

(E) eenr Osfweldeme

[

that man desire it is plain whom others wealth

Delights not, feeling envious pain™.

Whom does Thiruvalluvar refers to in the given above Thirukkural?

(B)
©)
D)

\k‘ff Nor wealth nor virtue does that man

Man of envious heart
Envy they have within
Goodman

(E) Answer not known

[19

Ypesrréesid

GuawmTg SipsSHIY LTer .

erebip Wreny Smeudr@reult GG ADTT?

&)
(B)
©
)
(E)

<iper pssb Ceuarimgmer
<jeuelu QrEresgmes

D (PESTH 2 EOLWLITEHT
Qgsuellurmesr

eflenL Ggfwelicrens
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87. What kind of Dhoti worn by maternal uncle while singing lullaby
you identified?

(A) Silk Dhoti

(B) Sandal Dhoti
Thuvai Dhoti .

(D) Mallu Dhoti

(E) Answer not known

Srar_ (i ur_edld miwmoer &g i Caully euans 6rg?
(A) wE Geulig

(B) esbser Gaullg

(€C) swa Cailiy

D) woa Cailiy

(E) ofev Qsflwiciidrenan

88. “Utruzhi uthaviyum uruporul koduthum” —
What field is eulogised in this Purananootru Paadal?
V&0 Education (Kalvi) .
(B) Charity (Eegai)
(C) Integrity (Nermai)
(D) Truth (Unmai)
(E) Answer not known

“o Hod e gefluyb 2 mEuTmer dar@ssib” —

Cupsramib LDBETEIHOILILITL & Bilg ergen Sprienu eusdumsgdearng 2
N |

(B) rens

(C). Cprenwd

(D) o a@menwo

(B) ofer Qsfweileanad
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89. Choose the Sangam period in which the poet Nakkirar was
considered the most predominant poet :

(a) First Sangam

(b) Third Sangam

(¢) Second Sangam

(d) Fourth Sangam ‘

@) (@ only & () only

(C) (c) and (d) only (D) (b) and (c) only
(E) Answer not known

&G @ﬁn@\a&uuL@m@T asrrmgsgcu ps&rt Bls W&HU UeeTTs GTHEE FhE
sregamss GerbseurTas sHsLILGSDTT?

(@) sd smsbd
(b) aperpmd sRSLD
() @ueamLmb shisb
(d) premsmbd smsbd .
Q) (a) viw .(B) (b) Lrw

€) (o) wpgid (d) wr @b D) (b) wppid (€) L Ed
(E) e Qgflwetdana

90. One side of a rectargular field is 15 m and one of its diagonals is
17 m. Find the area of the field.

(A) 80 m? (B) 100 m?
(O)n BLO 2 F o oy @7 120 m?
(E) Answer not known

@ Qecueus eugou BHlegden o LEs oiarey 15 8 whoid agm R
apaneveiliitb 17 15 erafled, Bavgder LipliLeTency sreimns.

(A) 80 2 (B) 100 2
(C) 110 .82 el ¥ - (D) 120 42
(E) e Gzfweldana
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91. If1, 2,2, 3, 3, 3 are the faces of a die, 2 such dice are rolled. In how
many cases 21 die face is bigger than 1st die.

4) 3
B) 5
C) 8
11
(E) Answer not known

1, 2, 2, 3, 3, 3 wswdliiyser Qarear. @@ LsmLger 2 sl liLfih Qumipsl,
Wpee® usmLwler (s wHimu A Eremireug usemLuder @ps FELL
agﬂasmrras @@ésas GU ML L SelT 6‘I’§3§66)60T?

(A) 3

®) 5

(C) 8

D) 11

(B) oo GzMweidene

.92, If Rs. 10,890 is divided among A and B groups in the ratio 4:5 then
the group B’s share is

(A) Rs. 1,210
(B) Rs. 4,840

€7 Rs. 6,050

(D) Rs. 5,445
(E) Answer not known

. 10,890 & A wpmib B aam @6 Gwssense 4:5 aarp aldssdd
Gfsgs Qerhssiad B @uwelng das@n Ggreans creer ?

@A) @ 1,210

B) . 4,840

©) @ 6,050

D) . 5,445 | .
() e Qsflwueiideama
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cat=abe

R T
dog=def
Then which one of the following may be equal to m_ls
' co

cba cba
Ay — By r=s
e ® oo

chn cbn
6 Wik chn
© ace me T
(E) Answer not known
cat=abc  tan ‘ i o .
dog=def cor GopsTe TN S I BETeU SNy el i el
SOlEE LI _eomb ?

cba cba
Ay — e ek
*) aec - (B) S

bn cbn
Sl (B ) s
e @)oo

(E) e Qsfusideame

94 E&GBDM4NKH2ACZSV3FE1JLOQ5PR
What will come in placeof question mark in the following sequence?
GDR BMP D45 ?

W MNQ . (B) 4NQ
(C) MKO ' D) M4Q
(E) Answer not known .
E&GBDM4NKH2ACZSV3F1JLOQ5PR
larm GHU_ P& ufars aumbd QsTi erg ?
GDR BMP D45 2?2
(4) MNQ - (B) 4NQ
(C) MKO (D) M4Q
(E) eYen_ Ggfluedcrane

B | 61 ) CCSE2T/2024
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95. A can finish a job in 6 days whereas B finishes it in 12 days. The

time taken to complete the job working together is ————?
(A) 6 days \Jp( 4 days

(C) 8days (D) 3 days

(E) Answer not known

A arenuait g Camaow 6 prisagib B edawer 12 prsaflgid apglor
aalld, GEaumb gapres G <ibs Cameow asgmear BT sald

(pig LI ? :
(A) 6 pmiser (B) 4 priser
(C) 8 pmaar (D) 3 prser

(E) dflenr. Gz flusiidvans

96. A swimming bath is 24 m long and 15 m broad. When a number of
. men dive into the bath, the height of water rises by 1 cm. If the

average volume of water displaced by each man be 0.1 m?, how
many men are there in the bath? d

(A) 32 W& 36

(C) 42 (D) 46

(E) Answer not known

am Bosd @anb 24 B i Berapd 15 Bl it wis@pb Camamg. GO
aamaflsmaons oarsdr bss GIsHd GHEGW Gurg), Bifter 2.wiyb

o5 Q.8 2 widpg. @@ e syrefluns GeaelGuppid Biler werey (0% I
orafler s Boed GasHld crdgoan @S o araTeniT? '

(A) 32 (B) 36
(C) 42 ' | (D) 46
(E) oo Gzflueidena
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97. Find the simple interest on Rs. 68‘,000, at 1'6%% per annum for

9 months.
(A) Rs. 7,500 \93( Rs. 8,500
(©) Rs. 8,500 (D) Rs. 5,500

(E) Answer not known

2 ey dsn 162% aafld @, 68,0006s gerLg wistsEs sof
QUL g, GTETan? ; |

A) . 7,500 B) @. 8,500

©) . 6,500 D) e. 5,500
(B) efar AsNuedbera '

98. IfA:B:C=2:3:4 then%:g: 1s equal to

NI

(A) 8:9:10 (B) 8:16: 24

_ \ﬂ(8:9:24 - (D) 24:9:8

(E) Answer not known

A B C
A:B:C=2:3:4 eafly =:=:— 4 ‘
C erafled B C A & &l
(A 8:9:10 (B) 8:16:24
(C) 8:9:24 _ (D) 24:9:8
)" e Osfusioame
B 63 . CCSE2T/2024
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99. Reaching the place of meeting 20 minutes before 8.50 hrs Sunil
found himself thirty minutes earlier than the man who came
40 minutes late. What was the schedule time of the meeting?

(A) 8.00 (B) 8.05

(©) 8.10 | -\ 820

(E) Answer not known

sl Lib glotigausne 20 Fiflin gperarCls saild erarLe 8.50 wanflss
Qeanprir. it @l L gakGausnd 30 HblLd qperaGr aibsl AL gns
o aniibamit. @@ walst @mUL s8HE 40 HillLid srESMOFLOTS QuBST ereutle
gal Lib gleums GHss Cryb eremer? '

(A) 8.00 | (B) 8.05
(C) 8.10 ' (D) 8.20
(E) eflenL @g,lﬂu_laﬁlsbsba)

100. A can do a certain job in 7—12— hours, B is 20% more efficient than A.
How many hours does B alone take to do the same job?
(A) 5 hours (B) 5% hours
\’QZ{ 6 houré D) 63 hours -
(E) Answer not known
‘B’ arenueuir ‘A’ aramuciey oL 20% sifsors Goume Qendpm. A g
Gauaaerws 7L werfl CprsHd Gsiig wpusspm aafl@, B wl (b Sips
Cousmaen Qaiigl (pigbs asgeman warfl CHID ahSSs QameTeumi?
(A) 5 wenfl Gpd _ (B) 51 wesfl Gpyid
(C) 6 wefl Comd - (D) 61 wenfl Cpyd>
(B) oo Qsflucidama |
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~ Part-B - General English

dernéser :101-200
Questions :101-200

Qwrés wWHLQUTSET : 150
Total Marks ; 150

101. Identify the figure of Speéch employed in the following lines.

“The bleeding bark will heal”.

\yff Personification

(C) Metaphor
(E) Answer not known

102. Lights flicker on and off

But fear takes over me.

Identify the Onomatopoeic word in the given stanza.

(A) fear

& flicker

(E) Answer not known‘

(B) Simile
(D) Oxymoron

(B) lights
(D) onand off

103, “We were taken from the ore-bed and the mine,
We were melted in the furnace and the pit —

We were cast and wrought and hammered to design,
- We were cut and filed and tooled and gauged to fit”.

What is the poetic device used here?

(A) Oxymoron
(C) Assonance

(E) Answer not known

65

(B) Paradox
V&7 Anaphora

CCSE2E/2024
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104. “But of late, my computer has been behaving badly too,
It is so absent-minded, that I don’t know what to do”:
Mention the figure of speech used in the above lines.
~(A)  Simile | kar Personification
(C) Metaphor (D) Repetition

(E) Answer not kriown

105. But I know no better spectacle
Than a comet in full flight.
What do you mean bf ‘spectacle’ here?
M unusual event that attracts attention
(B) usual situation that attracts distraction
(C) expected event that attracts attention
(D) unexpected situation that attracts distraction

~(E) Answer not known

106. It’s written in victory and defeat

And every trial a man may meet.
What does ‘it’ refer to in the above given lines?
(A) Spbrts (B) Hope

M —Courage (D) Patience
(E) Answer not known
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107. “She puts her life at Stake”

Give the meaning of the word Stake
(A) brisk (B) courage

(C) ease ! u’.Bf risk

(E) Answer not known

108. Strong is she in her faith and beliefs.

“Persistence is the key to everything”, says she.

- What does the word “Persistence” mean?
(A) grief (B) groans
\,eef determination (D) moans

(.E)‘ Answer not known

109. It’s helping your fellowman to score

When his chances hopeless seems;

The word ‘it’ in the above lines refers to
(A)  hard work
(B) best work

\)Zr team work -

(D) smart work

(E) Answer not known

67
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110. Match the Poets with their Poems :
() Mary Botham Howitt 1. The River
(b) Caroline Ann Bowles 2. The Stick-together Families
(c) Robert Frost 3. The Spider and the Fly
(d) Edgar Albert Guest 4. Stopping by Woods on a Snowy
‘ . Evening

@ & © @

Wi s 1 4

2
(B) . & ~ + 2 3 1
G 3 4 2 1

D) 2 4 1 3

(E) Answer not knewn

111. For simple sheep; and such are Daffodils ...
With the green world they live in;
and clear rills ...

The above lines were written by

(A) W.B. Yeats (B) Percy Bysshe Shelley
W2, John Keats (D) William Wordsworth

(E) Answer not known

112. “Come you back unto the fireside and be comrade with your kin”

This line-is taken from the poem

(A) The Poison Tree (B) The River
W€ The Stick-Together Families (D) Life
(E) Answer not known

113. “Still seeking what I sought when but a boy,
New friendship, high adventure and a crown”

Who wrote the above lines?

(A) Khalil Gibran W Henry Van Dyke-
(C) H.W. Longfellow (D) John Masefield
(E) Answer not known
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- 114. The woods are lovely, dark and deep

But I have promises to keep

Who wrote the above lines? .

\,{Kf " Robert Frost

115.

(C) Nisha Dyrene

(E) . Answer not known

(B) Sarojini Naidu

(D) John Masefield ‘

But the gladdest sort of people, when the busy day is done,

Are the brothers and the sisters who together share their fun.

116,

181

Who wrote the above poem?
(A) DH Lawrence
(C) William Wordsworth

(E) Answer not known

The word ‘Plaintively’ means
(A) Happily

(©) Joyfully

(E) Answer nbt known

Prospero’s daughter name was
(A) Portia
(C) Juliet

(E) Answer not known

69

WEr Edgar Albert Guest
' (D) Mary Botham Howitt

W Sadly

(D) Depressively

(B) Desdemona

\@Y Miranda

CCSE2E/2024
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118. ‘Practice hard and see what magic can transpire’, was the advice

" given by to Sachin Tendulkar.
\’Qf)’ Ramakant Achrekar |
: ‘(B) Ajit

(Cy Sunil Gavaskar

(D) Sac;hin’s father

(E) Answer not known

119. Tom used the pain killer to
(A) take cai‘e of his health
\[B{ mend the crack on the sitting room floor
(d) to Cure Becky Thatcher
(D) help his aunt

(E) Answer not known

+ 120. The adventures of Tom Sawyer is a
(A) . Short Story v?ﬂr Novel *
(C) * Fiction (D) Tale

(E) Answer not known
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121. Whatis the landform formed by silt called?

S Alliscrial

(C) Meander

(E) Answer not known

(B) Sinkhole
(D) Fluvial Terrace

122. Which historical character inspired Young Indira?

A SRS o Thinisi
(C) Sarojini Naidu

(E) Answer not known

WV Joan of Arc

D) Vijayalakshmi Pandit

123. Why did we call Dr. Salim Ali as “Birdman of India”?

(A) His research in climate change
v(fBr His immense contribution to the field of Ornifhology
(C) His research in Orthopedic

o~

(D) His research in Water Movements

(E) Answer not known

124. In whose biography do you find this statement?

I would sweep them out of existence if I had the power.

(4) Jawaharlal Nehru -
\,@ef Mahatma Gandhi °

(E) Answer not known

71

(B) Nelson Mandela
(D) Abraham Lincoln
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125. Dr. Salim Ali was introduced to the serious study of birds by

v(d W.S. Millard (B) EHA
(C) Norman Boyd Kinnear (D) Amiruddin

(E) Answer not known

126. “Elephant Rides are for the Royals. Forget this Dream” — Who said
this to Rani of Jhansi?

(A) Baji Rao \;B(.Moropant Tambe
" (©) Gangadhar Rao ' (D) Pandit Dikshit

(E) Answer not known

127. What was the name of the system that Nelson Mandela fought

against?
(A) Civil Rights M Apartheid
(C) Violence (D) Sathia

(E) Answer not known

128. Abraham Lincoln Proclaimed the abolition of s,iavery on

(A) May 1, 1863 ) January 1, 1863
(C) January 1, 1864 . - (D) May 1, 1864

(E) Answer not known
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129. Match the words with their phrases :

130.

131.

0 - I Y

A

Words Phrases:
(a) Friendly relationship 1. ranout _
-(b) Meet by chance 2. get along with
(¢) Use completely 3. goaway |
(d) Leave from,the place 4. come across

@ G @ - @ .
A 3 2 1 4
15 W R S 1

2 4 3 1
D) N R T TR
(E) Answer not known

Choose the correct synonym for the underlined word :

Fill ail the bowls, tubs, pails and pitchers with fresh water.

(A) mugs . ' \LBf jugs
(C) buckets (D) pots
(E) Answer not known

Choose the correct ‘Synonym’ by matching Column A and B :

Column A Column B |
(a) Affluent 1. Widen il
(b) Dilate 2. Spire
(¢) Smacks 3. Wealthy
(d) Summit 4. Drive

@ ® ©© O
@) A @l 2,
B): 2% L« B

G RPN

4B R TR S |
(E) Answer not known
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132. Add a prefix to the word ‘Natural’ to complete the sentence.

His job is to investigate natural phenomena.
(A) in (B) non
2f super (D) pro

(E) Answer not known

133. Fill in the blanks with suitable article.

India 1s largest democracy in the world.
A) an & the
(©) all , D) a

(E) Ahswer not known

134. Idéntify the correct preposition from the options given below.

I will have finished this essay Friday.
(A) in (B) on

©) at v by -

(E) Answer not known

135. Choose the correct question tag :

This 1s the bus that I have to travel, %
(A) 1s this? (B) isn’t this?
€) isit? WPy isn't it?.

() Answer not known

136. Select the suitable tag.

He lives in Europe, ?
(A) isn’t he? (B) wasn’t he?
(C) didn’t he? @7 doesn’t he?

(E) Answer not known
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137. Match the Non-finite verb correctly :

188. Identify the sentence pattern of the following sentence.

139. Identify the sentence pattern of the following sentence.

140. They rejoined the group as Sarah passed out

o)

Column A
(a) Walking is healthy habit

" (¢) Having walked along distance

I felt tired

(d) These are my walking shoes

@), o)z, @), (d)
@ s
& 3 1 4
© 1 3 4
™ 8 1 2
(E) Answer not known

INESECES

I painted the car blue.

& SvVoC -

.(C)' SVA
(E) Answer not known

In 1998; Frank moved to London

VA& ASVA

(C) ASVC
(E) Answer not known

(A) desert

\M dessert °

" (E) Answer not known

75

Column B
1. Infinitive
() -Ilike to walk early in the morning 2. Present Participle

3. Gerunds

4. Past Participle

(B) SVC
(D) SVOA

(B) ASVO
(D) SVIODO

and coffee.

(B) dirt
(D) dish

CCSE2E/2024
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141. Select the grammatically correct sentence :
(a) My son is fond of music
() My son is fond to music
(¢) My son is fond in music
() My son is fond with music
(A) (b) and {(c) are correct (B) Only (d) is correct

(C) (a) and (d) are correct ] Only (a) is correct
(E) Answer not known ~

142. Which of the following is a noun?

(A) Put (B) Walk
ey Sun - " (D) Call

(E) Answer not known

143. A of birds were flying on the sky.
(A) swarm of (B) group of
flock of - (D) herd of

(E) Answer not known

144. Identify which is the correct singular word and select the answer
from the codes given below.

(a) Crises
(b) Media
(A) (a)is a singular word
(B) (b)1s a singular word
. {(C) Both (a) and (b) are singular word

\)D‘Y Both (a) and (b) are plural word -
(E)  Answer not known
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145. Foreign + Exchange ==

Find the blended word.
(A) . Foreign change | (B) Foreign exchange
(C) Forexchange - \,(B)' Forex .

(E) Answer not known

146. Which twd words blend together to form the new word ‘Camcorder’?

(A) Cam + recorder y?Br Camera + recorder
(C) Camera + order - (D) Cam + corder
(E) Answer not known

147. Which of the following is correct for?

Overcoat
(A) Noun + Preposition (B) Noun + Noun
(C) Verb + Noun BT Preposition + Noun

(E) Answer not known

148. Identify the compound Wofd that is ;
Gerund + Noun
(A) Cry baby (B) Sun rise
Bleaching powder’ (D) Sun set.
(E) Answer not known

149. Replace the underlined word with its American word :
We should use the Bin for the garbage.

(A) Dust Bin | @B Trash Can
(C) Garbage Bin (D) Trash Box
(E) Answer not known -‘
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150. And I Sunned it with smiles

Identify the alliteration in the given line,
(A I-1t (B) And — with
\'(Zf Sunned — smile {D) Sunned — with

(E) Answer not known

151. To win, run as fast as the wind

 Identify the.figufe of speech in the given line.
(A) Personification - (B) Metaphor

WO Simile - (D) Anaphora

(E) Answer not known

- 52 Which of the given option is a Metaphor?
(A) Life is like a chocolate box |
(B) Raj is like his twin brother

M His words are pearls of wisdom -
(D) The bus is slow as a snail

(E) Answer not known
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153, Courage isn’t a brilliant dash,
A daring deed in a moment's flash;
It isn’t an instantaneous thing
Born of despair with a sudden spring
Write the Rhyme scheme of the poem.
(A) ABAB (B) ABBA
W& AABB (D) AAAB
(E) Answer not known
154. Speak gently to the young, for they
Will have enough to bear —
Pass through this life as best they may,
‘T is full of anxious care!
Wrife the Rhyme Scheme of the given stanza.
A ABAB/ ' (B) ABBA
(C) AABB @) ABAA
(E)  Answer not known
155. And all I ask is a windy day with the white clouds flying,
And the flung spray and the blown spume, and the sea-gulls crying.
. The rhyming words in the above lines are
(A) windy, white (B) spray, spume
(C)  clouds, gulls : \(Bf flying, crying -
(E) Answer not known ‘ '
9 79 CCSE2E/2024
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156. And the wheel’s kick and the wind’s song and the white sail’s Is,haking

Pick out the figure of speech given in the above poetic line.
(A) Metaphor (B) Simile
\[6 Alliteration (D) Hyperbole
1 (E) Answer not known

157. “I must go down to the seas again, to the

Vagrant gypsy life”

Gypsy life means
(A) A Sea Captain’s Life
\/EY A Wandering Man’s Life
(C) A Historian’s Life
(D) An Explorer’s Life
| (E) Answer not known

158." “But we ants never borrow;
We ants never lend”
Why do you think ants neither borrow nor lend?
(A) Ants are not wise and hard working

(B) Ants are lazy

\}Zr Ants are wise and hard working .
(D) Ants are wise and silly
(E) Answer not known
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159. You were the dad chosen for me

The author’s dad was chosen by

(A) Mother ~ - (B) Neighbouss
\M. God S S (D) Friends

(E) Answer not known

160. Then my computer caught a virus, and fell very sick,
So I had to call in a doctor, double quick.

Why did the poet call the doctor?
vﬂr as the computer fall very sick

(B) as the computer fall down
(C) as the computer got hurt

. (D) as the computer fall asieep
(E) Answer not known

161. “And all T ask is a merry yarn from a laughing fellow-rover,
And quiet sleep and a sweet dream when the long trick’s over”

The above lines are in the poem —
(A) A Thing of Beauty VBT Sea Fever
' (C) Lessons in Life (D) Making Life Worthwhile

(E) Answer not known
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162. Autumn is English
in red, yellow and brown
Autumn 1s Indian

Whenever leaves fall down

Who wrote the above poem?
W& Nisha Dyrene (B) William Wordsworth

(C) D.H. Lawrence (D) Mary Botham Howitt
(E) Answer not known

163. “And one day, my naughty computer actually gobbled a worm,

~ And behaved so erratically that it made me squirm”.

The poet was made to squirm because of the ——— behaviour of
the computer. '

(A) absent-minded (B) dreadful

\'(Zr erratic - (D) hasty

(E) Answer not known

164. Every soul that touches yours
Be it the slightest contact

Who wrote the above lines?

(A) William Shakespeare (B) Robert Frost
W George Eliot (D) John Masefield -
(E) Answer not known
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165. Who was chirping at the edge of the woods?
(A) Cow (B) Monkey

(C) Dog o E W) Birds
(E) Answer not known

166. On the way to his home, Peter stopped to pick l

listen to the

(A) Blue flowers, the water falls ‘
VQBf Blue flowers, the rabbits’ soft tread

(C) Yellow flowers, the rabbits’ soft tread
(D) Yellow flowers, the water falls

(E) Answer not known

167. The setting of the play ‘The Dying Detective’ is in
(A) Victor Savage’s house
(B) A New York city apart'meﬁt
(C) Dr. Watsoh’s House
\,('Uf 'Sheriock Holmes’ bedroom

(E) Answer not known

or to

168. Sir Arthur Ignatius Conan Doyle was a

(A) Irish : (B) American

\'(.Gf British ' (D) French
(E) Answer not known
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169. State which statement is correct :

(1) Little Czar was a European brown bear cub
(2) Little Czar was an Indian brown bear cub
(3) l Little Czar was an Américan brown bear cub
(4) Little Czar was a Germanian brown bear cub

w1 (B) 2
€ 3 D) 4
(E) Answer not known

170. Who brought up Sir Tsaac Newton?
(A) Grandfather \,(fB{ Grandmother
(C) Father (D) Mother
(E) Answer not known

i

171. Beauty lies in the beholder’s

(A) Head \kﬂr Eyes *
(C) Brain (D) Ear
(E) Answer not known

172. “My Reminiscences’; was written by
(A) Kamala Markandaya (B) Ernest Hemingway
(C) Toru Dutt _ \)ﬂr Rabindranath Tagore
(E) Answer not known
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173. “Great Leaders have something in them which inspires a whole

people and makes them. do great deeds”. Who quotes this?

(A) Dr. C.N. Annadurai (B) Gandhi
% Jawaharlal Nehru (D, Abraham Lincoln

(E) Answer not known

174. When was Subash Chandra Bose born?

: \M January 23, 1897 (B) Januéry 23, 1891
(C) January 26, 1901 (D) January 23, 1895

(E) Answer not known

175. Helen Keller’s Autobiography was named

(A) My Story \;(fBY The Story of my Life
(C) Experiments with my Life (D) My Life

(E) Answer not known

176. How did Kalpana Chawla die?

\}ﬁf Space Shuttle Disaster . (B) Aircraft Disaster
@) Rocket launch Disaster (D) Satellite Probe Disaster
(E) Answer not known
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Read the following passage carefully and answer the questions given
below (177 — 181) :

Raj was upset becauée he had done poorly in his English test. His
grandmother sat with him and gave him a pencil. A puzzled Raj
looked at his grandma and said he didn’t deserve a pencil after his
performance in the test. His grandma explained, “you can learn a
great many things from this pencil because it is just like you. It
experiences a painful sharpéhing, just the way you have experienced
the pain of not doing well in your test. However it will help you be a
better student. Just as all the good that comes from the pencil is
from within itself, you will also find the strength to overcome this
hurdle. And finally just as this pencil will make its mark on any
surface, you too shall leave your mark on anything you choose to”.
Raj was immediately consoled and promised himself that he would

do better in future.

177. Raj was upset as he had done : in his English test.
Aa)  well W& poorly .
(C) Dbetter (D) average

(E) Answer not known

178. His grandmother gave him a
(A) sketch (B) pen
\ﬂ( pencil (D) painting box

(E) Answer not known
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179. Granny compared ~———— with the pencil.
(A) Babu T, \,QB( Raj -~
(C) Ravi | | (D) Rajesh
(E) Answer not known '
180. Raj’s pain of not doing well in his test was compared with
of pencils.
(A) writing ' (B) drawing
(C) sketching \;?D)’sharpening
(E) Answer not known |
181. Raj understood that failures are stepping stones to
\ﬂfr success . | (B) consoling
(C) climbing : (D) strength
(E) Answer not known,
- 182. Choose the correct meaning of the phrase.
Reconcile to
(A) Maintain ik \kB(Accept half heartedly
(C) Arrive suddénly (D) antinue J
(E) Answer not known.
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183. Choose the correct Antonym for the underlined word ‘Concentrate’
from the option given.

(A) Continual (B) Preventable
Distract - ' (D) Wise
(E) Answer not known '

184. Match the following with correct Antonyms :

Column A Column B
(a) brisk 1. happy
(b) deéperate 2. criticize
(c) plaintive - 3. hopeful
(d) praise 4. dull

@ © @
A 1 3 4 2
4 3 1 Z
© 4 1 3 2
D) 4 1 2 3
(F) ° Answer not known

185. Select the correct prefix word for Violet’ from the options given :

\M ultra (B) em
(C). super (D) in
(E) Answer not known

186. Pick a suitable prefix for the given word from the given options :

Understand
(A) re - (B) ir

\QC)' mis (D) sub

(E) Answer not known
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187. Choose the correct tense form for the following sentence.

If she works hard, she a scholarship.
(A) would get (B) would have got
will get * (D) won’t get

(E) Answer not known

188. Select the correct tense.

If you ‘ hard you would have won the relay match.
(A) - will work . (B) works
(C) working \,@D'r had worked -

(E) Answer not known

189. Select the correct passive form of the sentence given.
~ She had already sent the parcel

(A) The parcel has already been sent by her
v(tB)' The parcel had already been sent by her -

(C) The parcel was already sent by her

(D) The parcel was already sent to her

(E) Answer not known

190. Choose the correct Active Voice for the given sentence :
The rules should not be violated.

(A) You should violate the rules.
(B) Anybody should not violate the rules.
(C) . Do not violate the rules.

VQBT Nobody should violate the rules. . -
(E) Answer not known '

191. Which of the following is suitable to complete the meaning?

I stopped to him.
(A) to talk ROy B talking <
(C) having talked (D) being talked

(E) Answer not known
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192. Someday people will : of our great exploits.
(A) right ~ (B) reads
write (D) wrote

+ (E) Answer not known

193. Find out the error part in the given sentence.

I found an one rupee coin / in the playground / while playing

A B C
\‘Kf I found an one rupee coin (B) in the playground
(C) while playing . (D) All are incorrect

(E) Answer not known

194, Choose the correct article.

This has got to stop immediately; Justice Mathematics said in

stern voice, rapping ————— hammer for silence in
— court.
(A) a,the, a (B) the, a, the
M a, the, the (D) a, a, the

(E) Answer not known

195. Choose the correct preposition :

Miranda hung her father saying, “Why are you so
ungentle”?

e/ upon - (B) on

(C) in (D) with

(E) Answer not known

196. Select the correct meaningful sentence from the following.’

(A) My Sister and friend have come. .
(B) Her cousins as well as her friends has received prizes.
(C) The whole class are attentive.
News never comes too late. 7
(E) Answer not known
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197. Pick out the complex sentence from the given options.

" (A) I could not make out the medaning of his absurd behaviour
\M One who does not love one’s country is a wretched person
(C) The children strolled through the meadow

(D) The moon was bright and we could see our way
(E) Answer not known

198. Find out what kind of sentence is given below.

‘If he is at home, I shall see him’..
(A) Simple (B) Compound

\,(Zf Complex (D) Imperative
(E) Answer not known

199. Combine the pairs of sentences by choosing the correct sentence.

I saw a Tiger. It was wounded

(A) I saw a Tiger was wounded VB(I saw a wounded Tiger _
(C) A wounded Tiger saw me (D) I was wounded by the Tiger
(E) Answer not known

200. identify the correct Degree of Comparison :

(1) Very few people in this town are as generous as Mr. Mohan.
(2) I cannot do anything better for you than this.
(A) (1) Comparative Degree (2) Positive Degree

\,Bf_ (1) Positive Degree (2) Comparative Degree
(C) (1) Superlative Degree (2) Comparative Degree
(D) (1) Positive Degree (2) Superlative Degree
(E). Answer not known
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